UNIT 1 STUDENT PACKET

1.3 Evaluating Limits at a Point from Graphs, Tables, and Functions
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Intensive Practice
1. Use the graph of the function f(z) to answer each question. e -—_’\__
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2. Use the graph of the function f(z) to answer each question,
Use 00, —oo or DN E where appropriate.
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UNIT 1 STUDENT PACKET

Answer the following questions for the piecewise defined function f(z) described on
the right hand side.

(8)  f(1) = DNE ble fetther branch of the Lunchion iacludes x=)

(b) .:I:J—% fz)=0 fz) = { sin(ﬂ'::z forz <1,
(c) Jlf'_::&f(:::): DNE 2 for z > 1.
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31 x> 17

. Answer the following questions for the piecewise defined function f(t) described on
the right hand side.
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Evaluate or determine that the limit does not exist for each of the limits (a) Hm f(x), (b) Hm f(x),and {¢) Hm £(d
x—=d x—=d+ x—+d

for the given function f and number d.
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UNIT 1 STUDENT PACKET

3. Evnluate each limit using algebraic techniques.
Use oo, —oo or DN E where appropriate.

) r?-25
(a) Eﬂ%mz—4x—5 T
’ 225 0 - B
b M- =
. Tz —4z-3
() 11:131131,‘2—%-%1 - 5
@ x4 + 523 + 622 . \

I z‘-’(:c -+ 1) — 4(:D + 1)

3

) I_”‘/F“L Vo4
VFrT-3 - L
(&) z-—>3 z+3 lo
. z* + 22 — 8
(®) hmm——(x+1)" 1§
N T R ) A
2 55%( 6y — 3 ) —}
() lim /2c08(z) =5 7 ONF
1 1
B -2
. 3+ 3 - = pEL
() Ly SE5=% = g
-21:+8_l |
(l) ﬁm:c2--12 r —

36 z+6 - 3(9

MARKWALTER’S AP CALCULUS BC | ¢



UNIT 1 STUDENT PACKET

o) W 2L o |
o) YP - 2-* - (Y",‘D\)U(‘WJ\ 10 _ =/
X0 YTy T i - 2y
(x> 53 %t 1) |3\

\ 4 2, |
)l X TADX246y? 1 2(3240x40) - ¥ (x42) (3%

X772 X20AD)- Hot) 32,02 avs o
X2+ x“-UHx-y 11 ~

X")“Q CX%‘)(X-Z) = L‘(\) n __L_L :{I(

(=V)-4) 24
e) W x4 D '
X—7'5 7 = —«?)_.\.‘\ _‘_ 3 - |~Q\ —\ -
P) 8% W -2 (W t+2) B :g N J":i
X735 Xl-Q (,R*l t2) (;X‘H)«-L-\ -:L'X-/?))
) o (- (T4 (e p)x 13X)
Tk T2 T

1
(6Y(2+2) ~ 24

9) e U3 Op a3

X33 ———— - -

X+3 0
NI M BEs 1 bH) _ \im (x"arlx—?)(ﬁ?ﬂfﬂ)):

3 2 %5 - (et ) s (4 X2 x+5 = (#+)?

: L Ly 5= r204)
oo y20=§) (T05s *0"-""3): e G2 (5 4 ce0)_ o ) (125 + 6

X3 — 244 X2 26 2 2

- —) ? MARKWALTER’S AP CALCULUS BC




1/3
I E : )110+4

i [ 1319\ (A5 ) - 3] & -

l) \ien ( =3 ) - e L] =

Rk

\)) ;(“—’golt Aeo3t)-5 :7 ONE {})szj()') =5 does aof GXO:S‘! neaf x=p
|

A -— 3-X AP / —X)‘(f*})()
\.‘ _ r -2, . - — , }_
K) )légo ”xx ;lxgo Gr)bx)  G#)Bx) - lim (319(3-%)
Kyo —=
2 x
-2
= iy - B ], - 4 i an
X0 ﬁm = x3p (3PBx) | 9
X
2
Q) e 2L (28) _ _X=1 1248)(<212)
2 = lim : T 1 a W T —
x3-b_X=!? Txa-p A xR St i
2
2P ! %): lie ,@:ﬁ";u)):lm '}E(?E)
| — Cw - Jim - 19) (& _ 2 1) ¥+ =
b X (x*>-12) b KR-12 - x(x-12
T %
- Ui _ ;L

-y (3



UNIT 1 STUDENT PACKET

There are lots of approaches to evaluating limits so we need to be REALLY flexible. You need to
be able to think through many different strategies.

More Difficult Analytical Limit Examples
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